Embedded Systems / Model-Based Design

Written exam – June 14 2013
Q1.

Define the FSMs that realizes the following description.

The system has a numeric display indicating the desired temperature and five keys: PLUS1, PLUS5, MINUS1, MINUS5  and RESET. At initialization the system displays the temperature 50. The key PLUS1 increases the temperature by 1, the key PLUS5 increases it by 5. The key MINUS1 decreases the temperature by 1, the key MINUS5 by 5. The key RESET brings it back to 50. The temperature must always stay within the range [40, 60]

Q2.
Provide a C code implementation of the previous machine. 

Q3.
Compute the composition of machines A and B. 


[image: image1]
Q4.
Provide a test sequence with state and transition coverage for the machine that results from the composition of A and B of Q3.
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